c A el ol WA AL T

Ay g o] HA ALY A=
POST, PUT, DELETE &< &3l 913 o] tulo] 27 214 o] EfF YT} 18} SA 43}
A= FH5UT ERIS X ElateE A9, tivfo] 2ol A A 28 A A S ALl 7] Hol| Hu 1 o)
A W ALgS EE oF gy

L EAA

@Al 1 Deployment 155 2] POST /operational/deploy 2] &~ 2~& A}-8-3Fo] 45
= So] curl Lt} o] AE 4 9l

mlo
Jii
b
L
O

curl -X POST --header 'Content-Type: application/json'
--header 'Accept: application/json'

'https://ftd.example.com/api/fdm/# 4l /operational/deploy"’
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{
"id": "62bf405F-7960-11e8-8640-a9156092ec4a",

"statusMessage": null,
"statusMessages": null,
"modifiedObjects": {},
"cliErrorMessage": null,
"queuedTime": 1530036705491,

"startTime": -1,
"endTime": -1,
"state": "QUEUED",
"name": "User (admin) Triggered Deployment",
"links": {
"self": "https://ftd.example.com/api/fdm/#Al/operational/deploy/

62bf405f-796c-11e8-8640-a9156b9%92ec49"
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curl -X GET --header 'Accept: application/json'

"https://ftd.example.com/api/fdm/ %2l /operational/deploy/
a7a227fb-82ab-11e7-8186-0dc471££0672"
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{

"id": "62bf405f-796c-11e8-8640-a9156b92ec49",

"statusMessage": "Deployed Successfully",

"statusMessages": [

"Deployed Successfully"
1,
"modifiedObjects": {
"NetworkObject": [
"new-network"
]
by
"cliErrorMessage": null,
"queuedTime": 1530036705491,
"startTime": 1530036705924,
"endTime": 1530036822612,

"state": "DEPLOYED",
"name": "User (admin) Triggered Deployment",
"links": {

"self": "https://ftd.example.com/api/fdm/# 4l /operational/deploy/
62bf405f-796c-11e8-8640-a9156b9%2ec49"
}
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